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QL (¥1) AL ALl Usele] Rlls 2934 adial. 10
() Z=xq+ 4%y + 5%z  <Il3edl 92l 2B HAH o1l 10
3%y +3x3 <22
X1 +2x,+3x3<14
3x1+2x, <14
X1, X2, X3 2 0
w4l
Q1 (v) [Ruda ydl adal, 10
(1) ois Uiedl 5131 Hi 6L usia<dl wzell 2rvian i 2ud 8. A wsiel Wl Bud Rs. 208 10
2 B Ustz<dl “zelll (5ud Rs. 30 8 A usiz Al uell £2 visalld Aia 4 881
T B 21 B ustedl uaell €2 2105138 239 6 $a1 20U 9. s13Hi aqul 4y 40
weflll vl astt dx 8 wid w2l 4l vdl Guz Rs. 1050 &l 48 wia s2a1l
el Al MR AvAHL 531 UL 52l HIZ ol usiell Seseell Hrellail wiled) odul?
Q2 (wt)  ORAA utsld adal. 10
(o) <Al Agctagik dHRAIAL HAMA SR Gie Hadl. 10
| X Y /4 Y2481
A 20 40 40 152
B 80 120 80 164
C 40 80 120 154
oy 3304, 144 204 82
g
Q2 (o)  cleleragiedl qnan wid [yl amzan 4234 dsiad agdl de (5l 10
AHRA o BLAls 2z adidl,
() A [l amdl g6 v Addn 2 d dd 92 G54 dadl, 10
A B C D E
1 20 22 . .. l....20. . ... 32 26
2 19 23 29 34 40
3 23 28 35 39 34
4 21 28 31 37 42
5 24 28 31 36 41
Q3 (»1) wene g 2ied g 2 woued (g dindiedl Ad Auomdl, 10
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(o) sflAUeAeAl A2l S2AU sH, Aeddy U2 DI 225 2PoAedl AUAAAL AHA LHL 10
UsIR 1 2 3 4 5 6
Halld 1 8 3 7 2 5 1
Hail 2 3 4 5 2 1 6
el 3 8 7 6 9 10 9
vAdL
Q3 (24)  s41dl vied g ? sHdL AlA2dIR quidl. 10
(o) <llal Wl G54 adidl, 10
B1 B2 B3 B4 B5
Al -2 0 0 1 5
A2 3 2 1 2 2
A3 -4 -3 0. -2 6
A4 5 3 -4 2 -6
Q4 (1) PERT i<l CPM <L GUAIoW dall PERT Al CPM a2l dled, Al 10
(o) ols Wisys2ul 9 s1aledl uHIdL Al 9. oyuel 3 vieignd uHA) <{lAAl slsHi sutar 10
8. d2dd €Al v oAl Wisysed 24 [Laruui Y2l 52000 L4 AUIAHE Uy S, dl 1L
ey gind satedl fetaedl sedl ?
o A [A=analel
514 UL 513 | 2B AM[Ad AHA | 2uaudEl uHA L
a - 3 1 7
b a 6 2 14
c a 3 3 3
d b, c 10 4 22
e b 7 3 15
f d, e 5 2 14
g d 4 4 4
Al
Q4 (¥1)  wiUgild AHA LST, EFT, EST, LFT 2l $lo0e UHA UE uUMdl, 10
(o) <13l Aoyl W12 PERT <5l 4R 52, s2ls2l ydl Wil 55l 521, 10
uqla silalalgl uHa | el 4y Aeldd x| [Qcidl auy
1-2 4 5 6
1-4 3 4 7
2-5 6 7 8
3-5 6 10 12
4-6 8 11 15
5-6 6 10 12




Q5 (2t)

Q5 (1)
()

Gyel 6YEl CAs viel d2eliil HI2 dAuldR Aeils 12 Yool 8. oAy, i -0, Al
24, gUAAAL [Rasaia Hoyor A8 s 55l 521 (o = 0.6)
1 2 1
[0 —4 ~1]
2 1 2
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(il Rassidl t2s) addl,

22l
9 - ay, [AERid 2 dneai-dl Risktid adidl.,
25 90Ul SR, s WA dsAal W2, AaAL (AR (12 nulel 9.
duAldl dAse, |1 2 3 4

UL 0.4 0.3 0.2 - 0.1
&l £25 seiedl Vel BHd 6 3. v A BUA 7 3. ld 2 d 4 AR <21 53, av
We9l UL Al Sid dl £2R46y ARl S26ll el wled) sxidu 2
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